1.

RETAN BHf ROELFEHI 02

ROGICHTIZEBE2ETHITF L. (S35, A1540%, B#2450%, C#ds)

(1) 3THEHZERDDP1LITARBET, (2) B5TEZERVPAITHRIET
50 128 o & BTV EEE 100 12d o & bV EEE

(3) 16 THEHIZERDD5ICRBET, (4) 24 THEB ELDD1012 BECT,
2777 DED I HERKDIERL 300 ML L 9 /N5
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ROGHICHTIZEB B ZETH T L. (S5, A150%, B#35 308, C#55)

(1) 4THZERDDP1IZRDHET, (2) 8THIZERDD6ICKRZET
100 12 % o & HIT VL EES 300 12H o & HUTVEEEL

(3) 18 THEIZERDDIICRZET, (4) 25 CHEHIBERDD1L IR DECT,
500 LA EDED 9 B I/ NDEE 375 DD I BERDIEE
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1.

RETAN BHf ROELFEHI 02

(1)

(3)

mERES

ROGICHTIZEBE2ETHITF L. (S35, A1540%, B#2450%, C#ds)

3THEIB LRI BET, (2)
5012 o & HUT WL EEEL

K3 THBERDNLICRE2E =308 +1
RO 1, D53 DEEBINC R 5.
1,4,7,10,13, -

50 +3 =162
16 fDUL < 2T
3x16+1=49
3x17+1=52

EVDIE 49

16 THEIB ERD D5 IR BHT, (4)
2777 DED I HERKDIERL

* 16 THZ LRV BIZH I = 16 DIEE+5
BRI DB 5, 725516 DHEEFINC S,
5,21,37,53,69, - (ZDOFFELTH XW)

100 + 16 = 6-++4
6 5D ZERT.
16 x5+5 =85
16 x 6 +5 = 101

2777 TmKiZ 85

© $2f - HE R L0

5THIZERDD AT BT,
100 12H > & HIEVEEE

K5 THZERDPAITHI2E =5 DEH+4
RIDEHS 4, D35 DEEBINC 7 5.
4,9,14,19,24, -+

100 +5 =20
20 DL ZHR T
5x19+4=99
5x20+4 =104

FEVLDix 99

24 CTHEZ 4D D310 127 BHCT,
300 ML ED ) BN DIEES

Y 24 THEZ ELHD D10 12258 = 24 DRFE+ 10
BRI DELH 10, #5524 DEEBINC 2 5.
10,34, 58,82,106, - (ZDEEFHELTH kW)

300 + 24 = 12--:12
12 5D 2T
24 x 12410 = 298
24 x 134 10 = 322

300 DL ETw/AhE 322
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ROGHICHTIZEB B ZETH T L. (S5, A150%, B#35 308, C#55)

(1) 4THZERVP LI ZHET,
100 12 o & HITEEE

KATHZERDPLIZEZE = 4D +1
RO DB 1, 722054 DEERBINC: 5.
1,5,9,13,17,

100 +~4 =25
25 5D 2T
4x24+1=097
4x25+1=101

Fvold 101

(3) 18 THIB EARDDITBET,
500 LA EDED 9 B I/ NDEE

K 18 CHIZ ERNVDIOICHZH = 18 DIEE +9
BHIDBD 9, 70518 DEAELINC S,
9,27,45,63,81, (ZOFFHELTH W)

500 < 18 = 27---14
27 15D T .
18 x 27+ 9 =495

18 X 28 +9 = 513

500 DL ECR/AME 513

(2)

(4)

8 THIZ ERND6 I BHT,
300 12 o & HIT VIR

* 8 CHZERDD6ICRIE = 8D+ 6
RAIDED 6, 2058 DEERINICR .
6,14,22,30,38, -

300 -8 =37+4
TGO #RT .
8 x 36 +6 = 294
8 x 37 +6 = 302

FLoid 302

25 CHElZ EARD DI 11127 25T,
37T DED ) LIKNDEER

* 25 THZ ERDD 11125 = 25 DEH+ 11
I DEHS 11, 725525 DELEHINC 2 5.
11,36,61,86,111, - (ZDOEEHELTH kW)

1000 + 25 = 40
40 5D 2R T
25 x 39 + 11 = 986
25 x 40 4+ 11 = 1011

37 ¥ T KiE 986
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